CON STA		ing Division	of Administr		ID# 118028 Bi	B DATE	BID SUM E: 4/13/202 GROUNDS	18 DEI	PT: SILVERV IANCE	VOOD			
Vendor Name:	andscaping	Irma Rad	ermacher	Triple G I	.awn Care	Reliable	Property						
Silverwood	Est. Qty.	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total
Lawn - Trimming	20	\$70.25	\$1,405.00	\$25.00	\$500.00	\$20.00	\$400.00	\$35.00	\$700.00		\$0.00		\$0.00
Lawn - Mowing	22	\$200.00	\$4,400.00	\$125.00	\$2,750.00	\$185.00	\$4,070.00	\$143.00	\$3,146.00		\$0.00		\$0.00
Debris Removal	20	\$10.00	\$200.00	\$15.00	\$300.00	\$0.00	\$0.00	\$24.00	\$480.00		\$0.00		\$0.00
Shrubs - Trim	1	\$250.00	\$250.00	\$50.00	\$50.00	\$60.00	\$60.00	\$35.00	\$35.00		\$0.00		\$0.00
YEAR 1 GRA	AND TOTAL	\$6,2	55.00	\$3,6	00.00	\$4,530.00		\$4,361.00		\$0	.00	\$0.	.00
	Year 2 %	2%	\$6,380.10	0%	\$3,600.00	0%	\$4,530.00	0%	\$4,361.00		\$0.00		\$0.00
	Year 3 %	0%	\$6,380.10	2%	\$3,672.00	0%	\$4,530.00	2%	\$4,448.22		\$0.00		\$0.00
Year 4 %		2%	\$6,507.70	0%	\$3,672.00	0%	\$4,530.00	2%	\$4,537.18		\$0.00		\$0.00
Year 5 % 0% \$6,507.70			2%	\$3,745.44	0%	\$4,530.00	2%	\$4,627.93		\$0.00		\$0.00	
5 YEAR GRAND TOTAL \$32,030.60			\$18,2	89.44	\$22,6	50.00	\$22,3	35.33	\$0	.00	\$ 0 ,	.00	

BID SUMMARY

Purchasing Division 608-266-4131

BID# 118028

D28 DATE: 4/13/2018 DEPT: HS-STOUGHTON BID NAME: GROUNDS MAINTENANCE

A Commenter of the second seco				-		-							
Vendor Name	:	Messner L	andscaping	Phoenix Maintenance		Reliable	Property						
HS Stoughton	Est. Qty.	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total
Lawn - Trimming	26	\$22.50	\$585.00	\$5.00	\$130.00	\$20.00	\$520.00		\$0.00		\$0.00		\$0.00
Lawn - Mowing	26	\$96.15	\$2,499.90	\$70.00	\$1,820.00	\$53.00	\$1,378.00		\$0.00		\$0.00		\$0.00
Lawn - Fertilizer	1	\$188.61	\$188.61	\$150.00	\$150.00	\$160.00	\$160.00		\$0.00		\$0.00		\$0.00
Lawn - Herbicide	1	\$188.61	\$188.61	\$150.00	\$150.00	\$160.00	\$160.00		\$0.00		\$0.00		\$0.00
Flower Bed - Herbicide	3	\$62.19	\$186.57	\$20.00	\$60.00	\$35.00	\$105.00		\$0.00		\$0.00		\$0.00
Flower Bed - Weeding	3	\$10.00	\$30.00	\$20.00	\$60.00	\$32.00	\$96.00		\$0.00		\$0.00		\$0.00
Lawn - Leaf	3	\$100.00	\$300.00	\$100.00	\$300.00	\$75.00	\$225.00		\$0.00		\$0.00		\$0.00
Flower Bed - Leaf	2	\$35.00	\$70.00	\$50.00	\$100.00	\$96.00	\$192.00		\$0.00		\$0.00		\$0.00
YEAR 1 GR	AND TOTAL	\$4,0	48.69	\$2,7	70.00	\$2,83	36.00	\$0.	00	\$0.0	00	\$0.	.00
	Year 2 %	2%	\$4,129.66	0%	\$2,770.00	0%	\$2,836.00		\$0.00		\$0.00		\$0.00
	Year 3 %	0%	\$4,129.66	0%	\$2,770.00	2%	\$2,892.72		\$0.00		\$0.00		\$0.00
	Year 4 %	2%	\$4,212.26	0%	\$2,770.00	2%	\$2,950.57		\$0.00		\$0.00		\$0.00
Year 5 %		0%	\$4,212.26	0%	\$2,770.00	2%	\$3,009.59		\$0.00		\$0.00		\$0.00
5 YEAR GRAND TOTAL		\$20,7	/32.53	\$13,8	50.00	\$14,5	24.88	\$0.	00	\$0.0	00	\$0.	.00

Department	of Administration
------------	-------------------

BID SUMMARY

Purchasing Division 608-266-4131

BID# 118028 DATE: 4/13/2018 DEPT: MEDICAL EXAMINER

BID NAME: GROUNDS MAINTENANCE

Vendor Name:		Messner Landscaping		Phoenix Maintenance		Reliable Property							
Medical Examiner	Est. Qty.	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total
Lawn - Trimming	29	\$20.00	\$580.00	\$5.00	\$145.00	\$18.00	\$522.00		\$0.00		\$0.00		\$0.00
Lawn - Mowing	29	\$90.00	\$2,610.00	\$55.00	\$1,595.00	\$50.00	\$1,450.00		\$0.00		\$0.00		\$0.00
Debris Removal	29	\$7.10	\$205.90	\$1.00	\$29.00	\$18.00	\$522.00		\$0.00		\$0.00		\$0.00
Lawn - Herbicide	1	\$185.94	\$185.94	\$100.00	\$100.00	\$146.00	\$146.00		\$0.00		\$0.00		\$0.00
Flower Bed - Herbicide	1	\$90.00	\$90.00	\$100.00	\$100.00	\$92.00	\$92.00		\$0.00		\$0.00		\$0.00
Flower Bed - Weeding	29	\$17.19	\$498.51	\$1.00	\$29.00	\$32.00	\$928.00		\$0.00		\$0.00		\$0.00
Shrubs - Trim	2	\$75.00	\$150.00	\$5.00	\$10.00	\$35.00	\$70.00		\$0.00		\$0.00		\$0.00
Flower Bed - Leaf	4	\$200.00	\$800.00	\$5.00	\$20.00	\$160.00	\$640.00		\$0.00		\$0.00		\$0.00
YEAR 1 GR/	AND TOTAL	\$5,1	20.35	\$2,02	28.00	\$4,3	70.00	\$0.	00	\$0	.00	\$0.	.00
	Year 2 %	2%	\$5,222.76	0%	\$2,028.00	0%	\$4,370.00		\$0.00		\$0.00		\$0.00
	Year 3 %	0%	\$5,222.76	0%	\$2,028.00	2%	\$4,457.40		\$0.00		\$0.00		\$0.00
	Year 4 %	2%	\$5,327.21	0%	\$2,028.00	2%	\$4,546.55		\$0.00		\$0.00		\$0.00
	Year 5 %	0%	\$5,327.21	0%	\$2,028.00	2%	\$4,637.48		\$0.00		\$0.00		\$0.00
5 YEAR GRAND TOTAL		\$26,2	220.29	\$10,1	.40.00	\$22,381.43		\$0.00		\$0.00		\$0.00	

CONTRACTOR OF THE PARTY OF THE		ing Division	of Administi		D# 118028 BI	B DATE	BID SUM :: 4/13/201 GROUNDS		T: ZOO ANCE				
Vendor Name: Messner Landscaping				Reliable	Property								
Zoo	Est. Qty.	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total
Lawn - Trimming	14	\$57.50	\$805.00	\$37.00	\$518.00		\$0.00		\$0.00		\$0.00		\$0.00
Lawn - Mowing	14	\$271.23	\$3,797.22	\$139.00	\$1,946.00		\$0.00		\$0.00		\$0.00		\$0.00
Debris Removal	14	\$10.00	\$140.00	\$25.00	\$350.00		\$0.00		\$0.00		\$0.00		\$0.00
Lawn - Leaf	5	\$570.00	\$2,850.00	\$150.00	\$750.00		\$0.00		\$0.00		\$0.00		\$0.00
Flower Bed - Leaf	3	\$100.00	\$300.00	\$1,125.00	\$3,375.00		\$0.00		\$0.00		\$0.00		\$0.00
YEAR 1 GR	AND TOTAL	\$7,8	92.22	\$6,93	39.00	\$0 .	.00	\$0 .	00	\$0	.00	\$0.	00
	Year 2 %	2%	\$8,050.06	0%	\$6,939.00		\$0.00		\$0.00		\$0.00		\$0.00
	Year 3 %	0%	\$8,050.06	2%	\$7,077.78		\$0.00		\$0.00		\$0.00		\$0.00
Year 4 % 2%		2%	\$8,211.07	2%	\$7,219.34		\$0.00		\$0.00		\$0.00		\$0.00
	Year 5 %	0%	\$8,211.07	2%	\$7,363.72		\$0.00		\$0.00		\$0.00		\$0.00
5 YEAR GRAND TOTAL \$40,414.48			\$35,5	38.84	\$0.	.00	\$0.	00	\$0.00		\$0.00		

EXCEPTION		ing Division	of Administr		ID# 118028 B	B DATE	BID SUM : 4/13/20 GROUNDS	18 DEF	PT: HS-JOB ANCE	CENTER			
Vendor Name: Ryan Landscaping			dscaping	Messner L	andscaping	Phoenix M	Phoenix Maintenance		andscape				
Job Center	Est. Qty.	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total
Lawn - Trimming	26	\$30.00	\$780.00	\$15.00	\$390.00	\$10.00	\$260.00	\$0.00	\$0.00		\$0.00		\$0.00
Lawn - Mowing	26	\$50.00	\$1,300.00	\$40.00	\$1,040.00	\$40.00	\$1,040.00	\$45.00	\$1,170.00		\$0.00		\$0.00
Lawn - Fertilizer	1	\$50.00	\$50.00	\$35.25	\$35.25	\$50.00	\$50.00	\$100.00	\$100.00		\$0.00		\$0.00
Lawn - Herbicide	1	\$50.00	\$50.00	\$35.25	\$35.25	\$250.00	\$250.00	\$100.00	\$100.00		\$0.00		\$0.00
Flower Bed - Herbicide	5	\$250.00	\$1,250.00	\$70.00	\$350.00	\$20.00	\$100.00	\$60.00	\$300.00		\$0.00		\$0.00
Flower Bed - Weeding	5	\$200.00	\$1,000.00	\$13.00	\$65.00	\$20.00	\$100.00	\$55.00	\$275.00		\$0.00		\$0.00
YEAR 1 GRAND TOTAL		\$4,4	30.00	\$1,9	15.50	\$1,8	00.00	\$1,94	45.00	\$0.	.00	\$0.	00
Year 2 %		1%	\$4,474.30	2%	\$1,953.81	0%	\$1,800.00	3%	\$2,003.35		\$0.00		\$0.00
Year 3 %		1%	\$4,519.04	0%	\$1,953.81	0%	\$1,800.00	3%	\$2,063.45		\$0.00		\$0.00
Year 4 %		1%	\$4,564.23	2%	\$1,992.89	0%	\$1,800.00	3%	\$2,125.35		\$0.00		\$0.00
Year 5 %		1%	\$4,609.88	0%	\$1,992.89	0%	\$1,800.00	3%	\$2,189.11		\$0.00		\$0.00

\$9,000.00

\$10,326.27

\$0.00

\$0.00

5 YEAR GRAND TOTAL

\$22,597.45

\$9,808.89

		ing Division	of Administr	BID SUMMARY BID# 118028 DATE: 4/13/2018 DEPT: LAKE VIEW HILL BID NAME: GROUNDS MAINTENANCE									
Vendor Name: Ryan Landscaping			ndscaping	Messner L	andscaping	Phoenix M	aintenance	Glacier La	andscape	Reliable	Property		
Lake View Hill	Est. Qty.	ty. Unit Total		Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total
Lawn - Trimming	10	\$90.00	\$900.00	\$50.00	\$500.00	\$10.00	\$100.00	\$0.00	\$0.00	\$60.00	\$600.00		\$0.00
Lawn - Mowing	12	\$400.00	\$4,800.00	\$350.00	\$4,200.00	\$400.00	\$4,800.00	\$405.00	\$4,860.00	\$202.00	\$2,424.00		\$0.00
Debris Removal	10	\$90.00	\$900.00	\$34.50	\$345.00	\$10.00	\$100.00	\$0.00	\$0.00	\$50.00	\$500.00		\$0.00
Shrubs - Trim	1	\$200.00	\$200.00	\$165.00	\$165.00	\$50.00	\$50.00	\$55.00	\$55.00	\$50.00	\$50.00		\$0.00
Lawn - Leaf	2	\$800.00	\$1,600.00	\$700.00	\$1,400.00	\$200.00	\$400.00	\$1,215.00	\$2,430.00	\$1,120.00	\$2,240.00		\$0.00
YEAR 1 GRA	AND TOTAL	\$8,4	00.00	\$6,6	10.00	\$5,4	50.00	\$7,34	45.00	\$5,81	14.00	\$0	.00
	Year 2 %	1%	\$8,484.00	2%	\$6,742.20	0%	\$5,450.00	3%	\$7,565.35	0%	\$5,814.00		\$0.00
	Year 3 %	1%	\$8,568.84	0%	\$6,742.20	0%	\$5,450.00	3%	\$7,792.31	0%	\$5,814.00		\$0.00
Year 4 % 1% \$8,654.		\$8,654.53	2%	\$6,877.04	0%	\$5,450.00	3%	\$8,026.08	2%	\$5,930.28		\$0.00	
Year 5 % 1% \$8,741.07		0%	\$6,877.04	0%	\$5,450.00	3%	\$8,266.86	2%	\$6,048.89		\$0.00		
5 YEAR GRAND TOTAL \$42,848.44		\$33,8	48.49	\$27,2	250.00	\$38,995.60		\$29,421.17		\$0.00			

Department of	of Administration
---------------	-------------------

BID SUMMARY

Purchasing Division 608-266-4131 BID# 118028

28 DATE: 4/13/2018 DEPT: SADDLEBROOK

BID NAME: GROUNDS MAINTENANCE

Vendor Name:		Ryan Lar	ndscaping	Messner L	andscaping	Phoenix M	aintenance	Glacier L	andscape	Reliable	Property		
Saddlebrook	Est. Qty.	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Unit	Total
Lawn - Trimming	23	\$30.00	\$690.00	\$45.00	\$1,035.00	\$5.00	\$115.00	\$0.00	\$0.00	\$18.00	\$414.00		\$0.00
Lawn - Mowing	23	\$50.00	\$1,150.00	\$124.28	\$2,858.44	\$100.00	\$2,300.00	\$90.00	\$2,070.00	\$57.00	\$1,311.00		\$0.00
Debris Removal	2	\$100.00	\$200.00	\$10.00	\$20.00	\$10.00	\$20.00	\$0.00	\$0.00	\$18.00	\$36.00		\$0.00
Lawn - Fertilizer	3	\$75.00	\$225.00	\$125.43	\$376.29	\$50.00	\$150.00	\$75.00	\$225.00	\$184.00	\$552.00		\$0.00
Lawn - Herbicide	3	\$75.00	\$225.00	\$125.43	\$376.29	\$100.00	\$300.00	\$75.00	\$225.00	\$184.00	\$552.00		\$0.00
Shrubs - Trim	2	\$0.00	\$0.00	\$120.00	\$240.00	\$10.00	\$20.00	\$55.00	\$110.00	\$50.00	\$100.00		\$0.00
Lawn - Leaf	1	\$100.00	\$100.00	\$360.00	\$360.00	\$50.00	\$50.00	\$478.00	\$478.00	\$100.00	\$100.00		\$0.00
YEAR 1 GRA	AND TOTAL	\$2,5	90.00	\$5,2	56.02	\$2,9	55.00	\$3,1	08.00	\$3,0	65.00	\$0,	.00
	Year 2 %	1%	\$2,615.90	2%	\$5,371.34	0%	\$2,955.00	3%	\$3,201.24	0%	\$3,065.00		\$0.00
	Year 3 %	1%	\$2,642.06	0%	\$5,371.34	0%	\$2,955.00	3%	\$3,297.28	2%	\$3,126.30		\$0.00
	Year 4 %	1%	\$2,668.48	2%	\$5,478.77	0%	\$2,955.00	3%	\$3,396.20	2%	\$3,188.83		\$0.00
	Year 5 %	1%	\$2,695.16	0%	\$5,478.77	0%	\$2,955.00	3%	\$3,498.08	2%	\$3,252.60		\$0.00
5 YEAR GRAND TOTAL		\$13,2	11.60	\$26,9	66.24	\$14,775.00		\$16,500.79		\$15,697.73		\$0,	.00